
XVIII Open Cup named after E.V. Pankratiev
Stage 6, Grand Prix of Ukraine, Sunday, November 12, 2017

Problem A. Accommodation Plan
Input file: standard input

Output file: standard output

Time limit: 4 seconds
Memory limit: 256 mebibytes

The big party will be held at Zenyk and Marichka’s home. Their K friends will arrive to them.

Now Zenyk tries to find a way to accommodate all friends. Their house consists of N rooms and N − 1
hallways. Each hallway connects 2 rooms and has some length. It’s possible to reach any room starting
from any room via hallways.

Zenyk calls accommodation plan good if

• Each friend lives in some room.

• No 2 friends live in the same room.

• There exist a room (doesn’t matter if someone lives there) such that all friends can meet in this
room and the distance from it to room of each friend is not bigger than L.

Now Zenyk wants to count the number of good accommodation plans. Two plans are considered different
if at least one friend lives in different rooms. As this number can be very big, print it modulo 1000000007.

Input

The first line contains 3 integers – N , K and L (1 ≤ K ≤ N ≤ 105, 1 ≤ L ≤ 109). Each of the next
N − 1 lines contain 3 integers – Ai, Bi and Ci (1 ≤ Ai, Bi ≤ N , 1 ≤ Ci ≤ 109. ), which mean that a
hallway connecting Ai and Bi exists with length Ci.

Output

Print one integer – number of good accommodation plans modulo 1000000007.

Example

standard input standard output

5 2 7

1 2 4

3 2 8

2 4 2

4 5 6

12

Note

All good accommodation plans:

{1, 2}, {1, 4}, {1, 5}, {2, 1}, {2, 4}, {2, 5}, {4, 1}, {4, 2}, {4, 5}, {5, 1}, {5, 2}, {5, 4}.
A pair of integers represents room indices of the first and the second friend, respectively.
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